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1. Introduction
Note: in this revision of R3-212647 a typo has been corrected. Despite been a typo, it is quite a crucial correction as it regards the example with two CGIs provided in the paper. The correction is marked with track changes
In R3-211616 and R3-211996 a solution based on AMF based disambiguation of the gNB-ID included in a CGI reported by a UE via ANR measurements is proposed.
This paper analyses the limitations of this solution and proposes a way forward.
2. Solution analysis
The solution proposed in R3-211616 and R3-211996 can be briefly described as follows:

· A gNB receives an unknown CGI from a UE via ANR measurements 

· The gNB can either 

· signal the received CGI to the AMF, or

· signal to the AMF the longest possible gNB-ID derived from such CGI 

· The AMF compares the leftmost bits of the received CGI/gNB-ID with Global gNB IDs of NG-connected gNBs or look-up tables are used to determine the actual gNB-ID contained in the CGI/gNB-ID

An immediate problem affecting this solution is that of overlapping MSBs. We explain this via the following example:

In a network the following two gNBs are deployed:

	
	gNB-ID
	Served CGI

	gNB1
	(22 bits) 1100010101100110110111
	Cell 1 = 110001010110011011011110000101011001

	gNB2
	(24 bits) 110001010110011011011110
	Cell 2 = 110001010110011011011110000101011000


A UE served by a gNB3 reports via ANR the CGI of Cell 2. The serving gNB3 signals this CGI, or the longest gNB-ID that could be included in it, to the AMF.

· Which of the two gNB-IDs in use in the network shall the AMF select, gNB-ID1 or gNB-ID2?

· It is impossible for the AMF to disambiguate between the two gNB-IDs, hence the solution is error prone and it does not work for ANR
· The solution only works if some gNB-ID values are not used, which does not address the problem of gNB-ID exhaustion

· What happens if the two gNBs are not NG connected to the AMF?

· The solution does not work unless the comparison is made via a central database where all gNB-IDs deployed in the network are stored, i.e. the solution relies on the presence of a third function with knowledge of all gNB-IDs in the network or it relies on configuration at all AMFs of all gNB-IDs in the network

· The solution requires architectural/functional changes 

· What happens if the gNB-ID of a gNB needs to be changed in the future, e.g. to a shorter one?
· There is no flexibility in choosing any possibly available gNB-ID, due to the overlapping MSB problem. 

· The solution is not flexible and it is constrained, possibly preventing exploitation of flexible gNB-ID lengths

In short, the solution outlined in R3-211616 and R3-211996 only shifts the issues encountered with a RAN based solution, to the CN and it cannot address the requirements agreed at RAN3-110e, which are:
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Conclusion: the AMF based solution proposed in R3-211616 and R3-211996 do not fulfil the requirements agreed in RAN3. It is proposed to agree to a solution based on broadcast of the gNB-ID length
3. Conclusions

This contribution briefly analysed the solutions proposed in R3-211616 and R3-211996 and led to the following conclusion:
Conclusion: the AMF based solution proposed in R3-211616 and R3-211996 do not fulfil the requirements agreed in RAN3. It is proposed to agree to a solution based on broadcast of the gNB-ID length
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